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1 Introduction
In LCR TDD MC-HSUPA, whether or not E-PUCH and the associated E-HICH are allocated on the same carrier is in discussion. It’s suggested in the document that E-PUCH and the associated E-HICH be allocated on the same carrier or on the different carriers. Furthermore, it’s suggested in the document that two E-HICHs associated with two E-PUCHs on the different carriers be allocated in the same timeslot on the same carrier and share the same midamble shift where each E-HICH is associated with one E-PUCH. Such E-HICH allocation can save an SF=8 OVSF channelization code.
2 E-HICH allocation for LCR TDD MC-HSUPA
The two E-HICHs sharing the same midamble shift in the same timeslot on the same carrier are supported in CPC. Such allocation can save an SF=8 OVSF channelization code.
In LCR TDD MC-HSUPA, the E-PUCH on some carrier is associated with one E-HICH. The E-HICH occupies an SF=16 OVSF channelization code. When the number of the midamble shifts in the cell is K=8 in DL, the SF=16 OVSF channelization code which shares the same midamble shift in the same timeslot on the same carrier with the above E-HICH is not used or allocated to another E-HICH.
If the E-HICH associated with the E-PUCH on some carrier can be allocated on the different carrier from the E-PUCH, the E-HICH pair can be used in LCR TDD MC-HSUPA: the E-HICHs associated with two E-PUCHs on the different carriers CAN be allocated in the same timeslot on the same carrier and share the same midamble shift. Therefore, the following conclusions are suggested in the document.
Proposal 1: The E-PUCH and the associated E-HICH can be allocated on the different carriers.
Proposal 2: The E-HICHs associated with two E-PUCHs on the different carriers can be allocated in the same timeslot on the same carrier and share the same midamble shift.
3 Conclusion
The two proposals are suggested in the document.
Proposal 1: The E-PUCH and the associated E-HICH can be allocated on the different carriers.

Proposal 2: The E-HICHs associated with two E-PUCHs on the different carriers can be allocated in the same timeslot on the same carrier and share the same midamble shift.
